Chapter 8: In Class Exercises
1. A sample of 36 items yields  [image: image1.wmf] = 48.5 grams and s = 1.5 grams. Assuming a normal distribution of the population distribution, construct a 90 percent confidence interval for the population mean weight. 
2. What sample size is needed to obtain a 90 percent confidence interval for the mean protein content of meat if the estimate is to be within 2 pounds of the true mean value? Assume that the variance is 49 pounds. 

3. In a survey of 1,000 people, 420 are opposed to the tax increase. Construct a 95 percent confidence interval for the proportion of those people opposed to the tax increase. 

4. An insurance company estimates 45 percent of its claims have errors. The insurance company wants to estimate with 99 percent confidence the proportion of claims with errors. What sample size is needed if they wish to be within 5 percent of the actual? 
